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Q.1 Read the passage given below :    1×3=3 

1. One of the greatest advances in modern technology has been the 

invention of computers. They are widely used in industries. Now, 

there is hardly any sphere of human life where computers have not 

been pressed into service of man. We are heading fast towards the 

day when a computer will be as much part of a man‟s daily life as a 

telephone or a calculator. 

2. Computers are capable of doing extremely complicated work in all 

branches of learning. They can solve the most complex 

mathematical problems or put thousands of unrelated facts in order. 

These machines can be put to varied uses. For instance, they can 

provide information on the best way to prevent traffic jams. This 

whole process by which machines can be used to work for us has 

been called „automation‟. In the future automation may enable 

human beings to enjoy more leisure than they do today. The coming 

of automation is bound to have important social consequences.  

(i)   What complicated works are computers capable of doing?  1 

(ii) What is the greatest advancement in modern technology? 1 

(iii) The whole process by which machines can be used to work for 

us has been called -------------- .     1 

Q.2 Do as directed: 

(i) There is a general belief (a) ________ students that              

(b) _______ who write long sentences get (c) ________ 

marks. Short answers get (d)________ marks.  2  

 (a) in / of (b) those / all (c) more / many (d) least / less 

(ii) Error:        1 

(i) Three years old has rescued by the police.   ½ 

(ii) She was kidnap by a neighbour.    ½ 

Q.3 Attempt any ONE :       3 

(i)  Complete the story on the basis of the beginning given in 120  

words :   

“An old man had two daughters. He loved both of them. Once, he 

asked them ……… . 

(ii) A visit to a Birthday party. Write a diary entry on your 

friend‟s party. 

Q.4 Read the extract and answer the questions below :   2 

 miniatrure boughs 

 which if unchecked will expand again  

 to former size. 

(i) What is a „bough‟? 

(ii) What will expand again. 

Q.5 Answer any Four in 40 – 50 words :     6 

(i) Who provided immediate financial help to the author & his mother 

&  why? 

(ii) Which is the haven of quietness, according to the author? Explain. 

(iii) What has brought a shock to the poet in the poet „a slumber 

did my spirit seal‟? 

(iv) The poem “on killing a tree” is a social critique. Examine. 

(v) What is the belief at Pashupatinath about the end of Kaliyug? 

Q.6 Answer (Any One) the questions in not more than 120 words :  3 

(i) Compare and contrast the atmosphere  in and around the 

Baudhnath shrine with the Pashupatinath temple. 

(ii) How did the author feel after he went to his new school after the 

fire tragedy in the house? 

 

***** 
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Section – A    

Multiple Choice Questions :       15=5 

Q.1 The figure obtained by joining the mid-points of the sides of a 

rhombus, taken in order is? 

 (a) a rhombus (b) a rectangle (c) a square (d) any parallelogram   

Q.2 ABCD is a rhombus such that ACB=40, then ADB is -------.   

 (a) 40  (b) 45  (c) 50  (d) 60   

Q.3 AD is a diameter of a circle and AB is a chord. If AD=20cm, 

AB=12cm, the distance of AB from the centre of the circle -------- .  

 (a) 8cm (b) 10cm (c) 5cm (d) 9cm   

Q.4 In the figure, O is the centre of the circle.  

What is the value of x? 

 (a) 125 (b) 105  

(c) 95  (d) 85 

Q.5 If a right circular cone has a radius of 4cm 

and a slant height of 5 cm then what is the volume? 

   (a) 16cm
3
  (b) 14cm

3
 (c) 12cm

3
 (d) 18 cm

3
  

Do Any Three :       Section – B   23=6 

Q.6 Show that each angle of a rectangle is a right angle. 

Q.7 Show that if the angle subtended by the chords of a circle at the centre 

are equal, then the chords are equal. 

Q.8 Find the volume of a cone with radius 10cm and height 15cm. 

 

Q.9 In figure ABC=69, ACB=31.  

Find BDC. 

 

 

 

 

Q.10 In the given figure a circle with center O. 

AB and CD are its two diameters 

perpendicular to each other the length of 

chord AC is : 

 Section – C    32=6 

Q.11 The radius and slant height of a cone are in 

3 : 5. It its total surface are is 1205.76cm
2
. 

Find the height of the cone. [use =3.14] 

OR 

Prove equal chords of a circle subtend equal 

angles at the center. 

Q.12 In fig. PQR=120, where P,Q and R  

are points on a circle O. Find OPR  

and ORP.   

OR 

Show if the diagonal of a quadrilateral bisect each other of right 

angles, then it is a rhombus. 

Case Study Based: 

Q.13 Once four friends A, B, C and D went far a 

Picnic at a hill station. Due to peak season, 

they did not get a proper hotel in the city. 

The weather was fine do they decided to 

make a conical tent at a park. They were 

carrying 300m
2
  cloth with them. As 

shown in figure they made the tent with 

height 10m and diameter 14m. The 

remaining cloth was use for floor. 

 Solve any three questions : 

(i) How much cloth was use for the floor? 

(ii) What was the volume of the tent?   

(iii) What was the area of the floor? 

(iv) What was total surface area of the tent?  
(v) What was the slant height of the tent?  

***** 
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M.C.Q.  15=5   

S.A.1    23=6 External Choice (3 out of 4) 

S.A.2   32=6 Internal Choice (OR) 

Case Study  31=3 

Section – A 

Q.1   Aurum Latine name of :      

 (a) Tungsten  (b) Iron (c) Copper   (d) Gold   

Q.2  Valéncy & valence shell electron present in Chlorine, respectively: 

 (a) 1,7   (b) 7,1    (c) 7, 7   (d) 1, 1 

Q.3 Unmanted plants which grows along main crop are called : 

 (a) seed   (b) feed (c) weeds   (d) None of these 

Q.4 Sunlight is an example of ------------ . 

 (a) Abiotic factor (b) Biotic factors (c) Photoperiod (d) None of these 

Q.5 Which of the following quantities have same units? 

 (a) Power and energy  (b) Power and work    (c) work and energy  

(d) None of the above    

    Section – B  Any Three out of 4 

Q.6 What are polyatomic ions? Give examples. 

Q.7 Calculate molecular masses of H2, O2, NH3 

Q.8 A pair of bullocks exerts a force of 140N on a plough. The field being 

ploughed is 15m long. How much work is done in ploughing the field. 

Q.9 Write 1-1 difference between compost and vermicompost.. 

Section – C 

Q.10 (a) Write down the name of compounds – 

  (i) Al2 (SO4)3  (ii) CaCl2 (iii) Mg(OH)2 

  (b) Write down formulae of names – 

  (i) Silver Oxide (ii) Ammonium Carbonate  

(iii) Silver Sulphate  

OR 

(a) How many atoms are present in – 

(i) H2S molecule (ii) PO4
–3

 (iii) CO3
–2

 

(b) Name the Element having following Latin name : 

(i) Cuprum  (ii) Natrium (iii) Wolfram 

Q.11 Define kinetic energy and derive its relation? 

OR 

Define work and its each types with suitable examples. 

 

Section – D Case Study 

Q.12 Different crop require different climatic conditions, temperature and 

photoperiods for their growth & completion of life cycle. 

Photoperiods are related to the duration of sunlight. Growth of plants, 

flowering are dependent on sunlight. As we all know, plants 

manufacture their food in sunlight by the process of photosynthesis. 

There are some crops which are grown in rainy season called Kharif 

crop & the crops which are grown in winter are called Rabi crops. 

 (i) Crops which are grown in winters are called? 

  (a) Rabi  (b) Kharif (c) Rainy (d) Monsoon 

 (ii) What is Kharif season period? 

(a) June to July  (b) June to October  

(c) June to November   (d) June to December  

 (iii)  Define Photoperiod.  

OR 

 List the 2-2 examples of Rabi & Kharif crops. 
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Q.1 Germany, Italy and Japan were jointly known as :     

(a) Allied powers   (b) axis power  

(c) Centralist power   (d) None of these  

Q.2 Arrange the following places according to their distance from the 

equator (from minimum to maximum)     

 (i) Leh    (ii) Delhi   (iii) Thiruvananthapuram (iv) Shilong  

 Codes : 

 (a) 3, 4, 2, 1  (b) 4, 3, 2, 1 (c) 1, 2, 3, 4  (d) 3, 1, 2, 4 

Q.3 What is the annual Precipitation in the Indian state of Meghalaya?   

 (a) 300 cm   (b) 350 cm (c) 400 cm  (d) 450 cm  

Q.4 Which one of the following is not a part of Indian Judiciary system? 

(a) High courts in the states    (b) The Supreme Court  

(c) Village Panchayat   (d) District Court 

Q.5 According to World Bank Report, 2001, which country has the largest 

poor population? 

(a) India   (b) Nigeria (c) Ghana  (d) Bangladesh 

Short Answer (Do Any Three) :      23=6 

Q.6 What does the term „Genocidal War‟ refer to? 

Q.7 Define – Weather and climate 

Q.8 Define – Poverty line 

Q.9 What is Lok Sabha?  

Answer (Do Any Three) :       32=6 

Q.10 What were the promises made by Hitler to people of Germany? 

Q.11 How do the following factors influence the climate of India? 

 (a) Latitude (b) Altitude (c) Distance from the sea 

Q.12 Distinguish between Political executives and permanent executives. 

 

Case Study :         3 

Q.13 While determining the poverty line in India, a minimum level of food 

requirement, clothing, footwear, fuel and light, educational and 

medical requirement etc. are determinded for subsistence. 

  These physical quantities are multiplied by their prices in rupees. The 

present formula for food requirement while astimating the poverty 

line is based on the desired colonie requirements. 

 Food items, such as cereals, pulses, vegetables, milk, oil, sugar, etc 

together provide these needed colorics. The calone needs vary 

depending on age, sex and the type of work that a person does. The 

accepted average colories requirement in India is 2400 calories per 

person per day in rural areas and 2100 calories per person per day in 

urban areas since people living in rural areas engage themselves in 

more physical work, calorie requirements in rural areas are considered 

to e higher than in urban areas. The poverty line is estimated 

periodically (normally five years) by conducting sample surveys. 

These surveys are carried out by National sample survey organization 

(NSSO). 

(i) What is an accepted average calories required in urban areas 

(India)? 

(a) 2400 (b) 2800 (c) 2500 (d) 2100 

(ii) This the method to estimate the poverty line? 

(a) Income method (b) Human method 

(c) capital method (d) Investment method  

(iii) The poverty line is estimated periodically by ---------- .     
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Multiple Choice Questions :            5X1=5 

Q.1  It is a sequential display of slide. 

(a) Slide show   (b) Slide. Sorter  (c) Slide show   (d) None of these  

Q.2  Which key combination is used to open an existing presentation? 

(a) Ctrl + S.     (b) Ctrl + O         (c) Ctrl + N       (d) Ctrl + C 

Q.3  Which effect is applied to all the slides of a presentation? 

(a) Animation (b) Transition        (c) Design.         (d) Layout  

Q.4  The transition effects are under the ------------ menu . 

(a) Slide   (b) Slide show       (c) Tools          (d) insert  

Q.5  -------- cell option divides the selected cell further into separate cells 

in a table. 

(a) Merge   (b) Split         (c) Divide          (d) Combine  

Q.6  What is presentation Software ? Where do you use this type of 

software?                  2  

Q.7  Write the difference between Slide and Slide show?        2  

Q.8  Write the four elements of a good presentation?          2  

Q.9  What is table and how it is useful?         3  

OR 

 What is Lay out? 

Q.10  What is the difference between title bar and status bar?     3  

OR 

  Describe the steps used to enter notes in a slide?    3  

Q.11 How do you launch open office?     3 

OR 

Describe the use of undo and redo commands? Which tool bar has 

these commands? 

 

***** 
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iz-1 fuEufyf[kr x|ka'k dks i<+dj fn, x, iz'uksa ds mÙkj nhft,%& 

fgUnh dk ml le; izpkj izlkj FkkA eSa lu~ 1917 esa ;gk¡ vkbZ FkhA 

mlds mijkUr xka/kh th dk lR;kxzg vkjEHk gks x;kA tgk¡&rgk¡ fgUnh 

dk Hkh izpkj pyrk FkkA dfo lEesyu gksrs Fks rks ØkLFkosV ls eSMe 

gedks lkFk ysdj tkrh FkhA ge dfork lqukrs FksA 

1- mijksDr x|ka'k esa fdl 'kgj dk o.kZu gS\   1 

¼d½ ukxiqj  [k½ bykgckn ¼x½ fnYyh ¼?k½ dkuiqj 

2- ØkLFkosV D;k gS\        1 

¼d½ ysf[kdk dk ?kj  ¼[k½ fo|ky; dk uke 

¼x½ dkWyst dk uke ¼?k½ 'kgj dk uke   

3- fgUnh ds izpkj ds fy, D;k vk;ksftr fd, tkrs Fks\   1 

¼d½ dfo lEesyu ¼[k½ Hkk"k.k  ¼x½ lR;kxzg ¼?k½ mijksDr lHkh  

iz-2 fuEufyf[kr i|ka'k dks i<+dj fn, x, iz'uks ds mÙkj nhft,%& 
 jax&jax ds Qwyksa esa fjyfey 

 g¡l jgh lf[k;k¡ eVj [kM+h 

 e[keyh isfV;ksa lh yVdh 

 Nhfe;k¡ fNik,¡ cht yM+h! 

 fQjrh gSa jax jax dh frryh 

 jax jax ds Qwyksa ij lqanj 

 Qwys fQjrs gSa Qwy Lo;a 

 mM+ mM+ o`arksa ls o`arksa ij! 

1- g¡lrh eVj dh Qly dks D;k dgk x;k gS\   1 

¼d½ Qwy ¼[k½ fe= ¼x½ l[kh  ¼?k½ Qly 

2- csyksa ij yVdh eVj dSlh yx jgh gS\    1 

¼d½ g¡lrh gqbZ    ¼[k½ e[key lh isfV;ksa lh  

¼x½ cgqr lqUnj  ¼?k½ fgyrh&Mqyrh gqbZ  

iz-3 fuEu iz'uksa ds funsZ'kkuqlkj mÙkj nhft,%&    
1- fuEufyf[kr 'kCnksa ls milxZ ,oa ewy'kCn vyx&vyx  

dhft,        1 
izfrosnu]  futhZo 

2- fuEufyf[kr 'kCnksa ls izR;; ,oa ewy'kCn vyx&vyx  
dhft,        1 

lnkpkjh]  lkfgfR;d 

3- fuEufyf[kr 'kCnksa dk lekl foxzg dj izdkj Hkh fyf[k, 1 
ijhdFkk  xjekxje 

4- iafDr;ksa esa iz;qDr vyadkj crkb,%&    1 
¼v½ e/kqj&e/kqj eqLdku euksgjA 

¼c½ jrh&jrh lksHkk lc jrh ds ljhj dhA 

5- funsZ'kkuqlkj okD; ifjofrZr dhft,%&    1 
¼v½ vgk! fdruk je.kh; n`'; gSaA ¼okD; dk izdkj½ 
¼c½ ;gk¡ la pys tkvksA ¼fo/kkuokpd½ 

iz-4 fuEufyf[kr esa ls fdUgh rhu iz'uksa ds mÙkj 25&30 'kCnksa esa 
nhft,%            3×2=6  
1- izsepan ds thou esa ijns dk egRo D;ksa ugh Fkk\ 

2- xk¡o esa vfrfFk ds vkxeu ij xzkeokfl;ksa ds O;ogkj dks of.kZr 

dhft,A 

3- ysf[kdk ds LoHkko ij ukuh dk D;k izHkko Fkk\ 

4- ys[kdk us viuh ek¡ dks Hkkjrh; ek¡ tSlk D;ksa ugha crk;k\ 

iz-3 O;kdj.k ys[ku%        4 
vkids fo|y; esa ckyesyk vk;ksftr gkus tk jgk gS blds ckjs esa 

tkudkjh 'kgj ds izeq[k ik¡p fo|ky;ksa dks bZ esy n~okjk nhft,A 

vFkok 
vkids fo|ky; esa gq, gkWdh esp esa fotsrk ,oa mifotsrk Vhe ds pkj 

fo|kfFkZ;ksa ds chp gksus okys laokn dks fyf[k,A  

***** 


